PUISSANCE 4
Prog 9 :

"PUISSANCE 4"@




A=3CARSPECIAUX 222 \f "Symbol"I+1CARSPECIAUX 174 \f "Symbol"I


Mcl






A=3CARSPECIAUX 222 \f "Symbol"ICARSPECIAUX 174 \f "Symbol"B


Cls






A=4CARSPECIAUX 222 \f "Symbol"J+1CARSPECIAUX 174 \f "Symbol"J


Range 1,8,1,1,7,1




A=4CARSPECIAUX 222 \f "Symbol"JCARSPECIAUX 174 \f "Symbol"B


Plot 1,1





A=5CARSPECIAUX 222 \f "Symbol"K+1CARSPECIAUX 174 \f "Symbol"K


Plot 8,1:Line





A=5CARSPECIAUX 222 \f "Symbol"KCARSPECIAUX 174 \f "Symbol"B


Plot 8,2





A=6CARSPECIAUX 222 \f "Symbol"L+1CARSPECIAUX 174 \f "Symbol"L


Plot 1,2:Line





A=6CARSPECIAUX 222 \f "Symbol"LCARSPECIAUX 174 \f "Symbol"B


Plot 1,3





A=7CARSPECIAUX 222 \f "Symbol"M+1CARSPECIAUX 174 \f "Symbol"M


Plot 8,3:Line





A=7CARSPECIAUX 222 \f "Symbol"MCARSPECIAUX 174 \f "Symbol"B


Plot 8,4





Plot 0.3+A,0.7+B


Plot 1,4:Line





Plot 0.7+A,0.7+B:Line


Plot 1,5





Plot 0.7+A,0.3+B:Line


Plot 8,5:Line





Plot 0.3+A,0.3+B:Line


Plot 8,6





Plot 0.3+A,0.7+B:Line@

Plot 1,6:Line





Lbl 2


Plot 1,7





"JOUEUR 2:"


Plot 8,7:Line





"COLONNE"?CARSPECIAUX 174 \f "Symbol"C


Plot 1,1





Int CCARSPECIAUX 174 \f "Symbol"C


Plot 1,7:Line





C>7CARSPECIAUX 222 \f "Symbol"Goto 2


Plot 2,7





C<0CARSPECIAUX 222 \f "Symbol"Goto 2


Plot 2,1:Line





C=0CARSPECIAUX 222 \f "Symbol"Goto 3


Plot 3,1





C=1CARSPECIAUX 222 \f "Symbol"G+1CARSPECIAUX 174 \f "Symbol"G


Plot 3,7:Line





C=1CARSPECIAUX 222 \f "Symbol"GCARSPECIAUX 174 \f "Symbol"D


Plot 4,7





C=2CARSPECIAUX 222 \f "Symbol"H+1CARSPECIAUX 174 \f "Symbol"H


Plot 4,1:Line





C=2CARSPECIAUX 222 \f "Symbol"HCARSPECIAUX 174 \f "Symbol"D


Plot 5,1





C=3CARSPECIAUX 222 \f "Symbol"I+1CARSPECIAUX 174 \f "Symbol"I


Plot 5,7:Line





C=3CARSPECIAUX 222 \f "Symbol"ICARSPECIAUX 174 \f "Symbol"D


Plot 6,7





C=4CARSPECIAUX 222 \f "Symbol"J+1CARSPECIAUX 174 \f "Symbol"J


Plot 6,1:Line





C=4CARSPECIAUX 222 \f "Symbol"JCARSPECIAUX 174 \f "Symbol"D


Plot 7,1





C=5CARSPECIAUX 222 \f "Symbol"K+1CARSPECIAUX 174 \f "Symbol"K


Plot 7,7:Line





C=5CARSPECIAUX 222 \f "Symbol"KCARSPECIAUX 174 \f "Symbol"D


Plot 8,7





C=6CARSPECIAUX 222 \f "Symbol"L+1CARSPECIAUX 174 \f "Symbol"L


Plot 8,1:Line@




C=6CARSPECIAUX 222 \f "Symbol"LCARSPECIAUX 174 \f "Symbol"D


Lbl 1






C=7CARSPECIAUX 222 \f "Symbol"M+1CARSPECIAUX 174 \f "Symbol"M


"JOUEUR 1:"




C=7CARSPECIAUX 222 \f "Symbol"MCARSPECIAUX 174 \f "Symbol"D


"COLONNE"?CARSPECIAUX 174 \f "Symbol"A




Plot 0.3+C,0.7+D


Int ACARSPECIAUX 174 \f "Symbol"A





Plot 0.7+C,0.3+D:Line


A>7CARSPECIAUX 222 \f "Symbol"Goto 1





Plot 0.5+C,0.5+D:Line


A<0CARSPECIAUX 222 \f "Symbol"Goto 1





Plot 0.7+C,0.7+D:Line


A=0CARSPECIAUX 222 \f "Symbol"Goto 3





Plot 0.3+C,0.3+D:Line@

A=1CARSPECIAUX 222 \f "Symbol"G+1CARSPECIAUX 174 \f "Symbol"G




Goto 1


A=1CARSPECIAUX 222 \f "Symbol"GCARSPECIAUX 174 \f "Symbol"B





Lbl 3


A=2CARSPECIAUX 222 \f "Symbol"H+1CARSPECIAUX 174 \f "Symbol"H




Cls


A=2CARSPECIAUX 222 \f "Symbol"HCARSPECIAUX 174 \f "Symbol"B





Range -4.7,4.7,1,-3.1,3.1,1



(CARSPECIAUX 196 \f "Wingdings")





Mcl

